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Ohm’'slaw isapplicableto:
(A) Semi-conductors (B) Vacuumtubes
(C) Electrolytes (D) Semiconductorsand Vacuum tubes

Theres stance between the oppositefacesof 1m. cubeisfoundtobe1Q . If itslengthisincreased
to 2 m, withitsvolumeremaining thesame, thenitsres stance between the oppositefacesaongits
lengthis:

A) 2Q B) 4Q .

€) 1Q D) 8Q (

<

1
Threeresistancesof 3Q each areconnected in delta. Thevalue of theresistancesinthe * / ' /
equivaent saris: r" r

(A) 27 (B) 9 > .
(C) 15 D) 1Q A 4 y

Thevenin’stheorem can be applied to network containing : - K { ‘
(A) Passivedementsonly (B) Aétivederhentsonly
(C) Linear dementsonly (D) #All ofithese

Which of thefollowingistheunit of time constant of an RC network ?

(A) Second (5) Rxamirex s

9

(D) Allof these

© R
)

A floating bettery isone: s 2

(A) inwhichbattery voltagei séqﬁd to charger voltage

(B) inwhichthecurrent inttéci rc |jf isfully supplied by battery

(C) which getscharg' and discharged s multaneoudy

(D) whichsuppli es‘t% ent intermittently and a so during off cyclegetscharged

(A)" A primary cdll isan@ ectro-chemical cell

(B) After eharging, aprimary cell can beagain put to use

(C) Dryedlisaprimaty cell

(D) Leglanchecdlis in experiments, where constant supply of current isnot needed

Wlﬁ:h of thefollowi ng{F\avents isnot correct ?

Theeffici‘_ cy of asolar cell can beexpectedintherange:
(A) 10to 15'percent (B) 251030 percent
(C) 451060 percent (D) 70to 80 percent
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9. A 10kW dectric motor drivesavehicle at an average speed of 50 Km/h. Ten, 12V, 100A-h
batteries supply the motor, the maximum distancethat the vehiclemay travel beforethe batteries
must berecharged, will be:

(A) 30Km (B) 45Km
(C) 60Km (D) 80Km
10. A power factor of incandescent bulbis:
(A) 08lagging (B) 0.8leading
(C) Unity (D) Zero
r .

11. A high passfilter hasaresistance R = 2kQ. Thelowest input frequency to be passedis¥. 5'KHz /1.
Thevalueof suitable coupling capacitor must be: r’ > r’
(A) 0.1pF (B) 1pF - |
(C) 01nF D) 1uF <1l y v

1 ..\ F

12. Inthenetwork shown theva ueof the current supplied by th Batéywill bg: [

= Y 1
- x AAA
| | |
' |I i 'ul ;
; ¥
(A) 117A LB 1n7a "
(©) 11.7mA < (l (D) 117mA

13. InaCircuit, aresistance R, apureinductance L, and a Capacitance C are connected in parallel
acrossasinusoidal voltagesourqeef V volt. Thecircuit current will lead the applied voltageif :
(A) 1.<I | % ®) 1 =1
© 1I.>1 . ‘ f (¢ (D) Noneof these

. St 2 ﬁ]
14. Forv(s) = nitial andfina valuesof V(t) will berespectively :
(" s(s+1) Jm\\
(Al land1l ’ (B) 2and2
(©) 2andl (D) 1and2
" r
15. Inverse Laplacetransform of 10 IS:
' ® s(s+1)
(A) 10[3+ €1 (B) 10[1+¢€]
(©) 10[1-=e (D) 10[1-¥€
ElJ-49857-A 4
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16.

17.

18.

19.

20.

21.

Impulseresponseof an R—L circuitisa:
(A) Risngexponentid function (B) Decayingexponentia function
(C) Stepfunction (D) Parabolicfunction

For atwo port network to bereciprocal :

(A) Z,=2, B) Y=Y,
(C) h, =-h, (D) AD-BC=0
1

Inanetwork containing resistances and reactancestheroots of the characteristic equation giv‘e( b
forthecircuit : ke ‘) |
(A) Theforcedresponse (B) Thetota response A/ / v/
(C) Thenatura response (D) Thedamped response r r'
Which of thefollowing isan example of an openloop system ? - .'f i ‘r'
(A) Houscholdrefrigerator \ ( "~
(B) Respiratory systemof ananimal . | ‘\ [ f

H ’ ) k|

(C) Stahilisationof air pressureenteringinto amask
(D) Execution of aprogram by acomputer

Thetransfer function of afirst order control systemisof thety

1
Ts+1 r

1
O = f

£

1
A 75241 =Y ( ®)

(C) Ts ':

Theresponsec(t) of asystemto anut r(t) isgiven by thefollowing differentia equation

| #%
2

d Cgt) + 3dC(t) +5C(t) = Sr&) ‘.-
dt dt ]

Thetransfer function ofthesystemisgivenby

. 5 £ B 1
(A)(G(S) S+ 3s+5’\ B) G = s> +3s+5

P v 3s s+3
— G =
© G(SJ)F s? +3s+ ) G s +3s+5
22. With th&sajback system, thetransient response:
(A) Decaysdowly (B) Decaysrapidly
(©) Risesd8ly (D) Risesquickly
ElJ-49857-A <5> [Turn over
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23. A phase-lag compensationwill :
(A) Improverdativesability (B) Increasethe speed of response
(C) Increasebandwidth (D) Increaseovershoot

24. Inagtablecontrol system saturation may cause:

(A) Conditiond Stability (B) HighLeve Ostillations
(C) Overdamping (D) LowLeve Oscillations
g e L - « 4
25. Given, (S)—m,thewstemsiablhtyls: ( !
(A) Conditiond (B) Absolute sa™ / <4
(©) Magnd (D) Limited r l"
26. Thenumber of rootsintheright half of s-planefor the equation s*—4s* + s+6 i O would be:
- v
(A) 1 (B) 2 PN F
) 3 D) 4 4% { (¢
. ". N

27. 1f theNyquist plot cutsthe negativereal axisat adistangéof 014, thenithegain margin of the
sysemis: :
(A) 04 B) -0.4
(©) 4% (D) 25

v
28. Whichinputyiedsnatura response? 'ﬂ( !
(A) Stepinput < (B) Sinusoidd input

(©) Impulseinput v { (D) Rampinput
29. Snusoidd oscillatorsare: s 2
(A) Stable > ;ﬁk (B) Unsable
(C) Maginalysable f ‘_, (D) Conditiondly stable

30. If thesystem specifigationsare givenintimedomain, best approach for designing is:

(A) ‘Nyquist Plot 2 (B) Bode'sPlot
(C) Root Locus !\ (D) Noneof these

31. Thevedocity of atravelling e ectromagneticwavein freespaceisgivenby :

(A) Mob 0 ) (B) Moo

1
(©) Wo€p
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32.

33.

35.

36.

me.

38.

Maxwell’sdivergenceequation for themagneticfiedisgivenby :

(A) (B)
© (D) V.B=p

Thedectricfiddlinesand equipotentia lines:

(A) areparalel toeachother (B) areoneandthesame
(C) cuteachother orthogonally (D) cmbeinclinedtoeechotheratanyawgle‘
< 2%

Thenoisetemperature of sky isabout : ( "W
(A) 100° K (B) 273°K s a™ / <4
(C) 0°K (D) 30°K r l"

. - J . |
Thevaueof cj.dl aongacircleof radius2 unitsis: - ’ 4 r
(A) Zero B) 2719 % { (¢

(€ 4n (D) v o '

Theunitof py€,is:

(A) FaradHenry (B) Sec’/metgr
(C) ampsec/volt sec. (D) newton eterZ/C“pulome

4 r
Which oneof the statements doesnot pertai Z} t$teequati onvy.|B=0:

(A) Therearenosinksandsourc&fo‘riag icfields f
(B) Magneticfiddisperpendiculartethedectricfield

(C) Singlemagnetic polecannot ?L(ist

(D) Bissolencidd "‘“f | -\
Anairfilled rectangular Waveguidehasdimensons6 cm, 4cm. Thecut off frequency for TE is:
(A) 25GHz J‘ (B) 25GHz

©) (ZS-MHZ ‘ ]\ (D) 5GHz

39. Theintringcimpedance of alossy didectricmediumisgivenby :
(A) ‘*fr ‘ B) Jwelu
(©) \/Ik:/(6+jmi) (D) Jule
40. TheequatfogV/ | = Oisknown as:
(A) Poissonssequation (B) Laplaceequation
(C) Continuity equation (D) Maxwel equetion
ElJ-49857-A <Z> [Turn over
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41. Whichof thefollowingrelationsiscorrect :
(A) (B)
© (D) All of theabove

42. 1fV,w, gstandfor voltage, energy and chargethenV can beexpressed as:

V= dw
(A) ® V=g .2
4 ( L
dw dq .
dV = dV = — -
© V=, ) dv=_ a2 "V,
43. A null typeof instrument ascompared to adeflection typeinstrument has: f r
(A) ahigher accuracy (B) alower sengtivity - . |
(C) afaster response (D) aloftheabove o * & \ .

44. Theusageof eectronicinstrumentsisbecoming moreextens ‘ébéwseth(i/ havb:
(A) ahighsensitivity and rliability o '
(B) afast responseand compatibility with digital compiters '

(C) thecapahility to respond to signalsfrom remote places
(D) all of theabove

45. Theinput r%istanceofaCathoderayOscillozo eisof theord . L
(A) tensof ohm (B) mega
(C) kiloohm “\ (D) fractionof anohm
A

46. An0-10 A ammeter hasaguaranteeda aécuracy of 1% of full scaledeflection. Thelimiting error
whilereading2.5Ais: < 1;
(A) 1% ( I #% (B) 2%
(C) 4% ’ ‘ W {4 (D) Noneof theabove

47. A setof readings hes alviderangeand thereforeit has:
(A) sJLOWprecison (B) Highprecison
(C) Low accuracy (D) Highaccuracy

the output impedance ofithe circuit thereby causing error in voltage measurement. Thiserror may

48. Thevdigagé of acircuitjsmeasured by avoltmeter having aninput impedance comparablewith
becdl J

(A) Grosserror ' (B) Randomerror
© Error,cal'Jrsed by misuse of instrument (D) Error caused by loading effect
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49. Themogt stable primary atomic standard for frequency is:
(A) Caesumbeam standard (B) Hydrogen maser standard
(C) Quartz standard (D) Rubidiumvapour standard
50. Themateria of wiresused for making res stance standardsisusualy :
(A) Manganin (B) Nichrome
(C) Copper (D) Phosphor Bronze
¥
51. Inaflux meter: ( ﬁ:
(A) thecontrallingtorqueisproduced by weights attached to moving coil EE / |
(B) thecontrallingtorqueisproduced by springs \J JB
(C) thereisno controllingtorque f r
(D) noneof theabove . r '
< £ 3
52. Therelativedampinginagavanometeris0.8. Itslogarithmicqecr@ent ise{)prof('i mately :
(A) 0.48 (B) 1.25"" N 1
(C) 4.19 (D) 19
53. Thepower consumptionin PMMC instrumentsistypigaly abo
(A) 0.25W to2W (B) 0.25 02mW
(C) 25 uW t0200 W (D) Noneof heabc:ye
54. A meggar isused for measurement of : ‘Q (“
(A) low valued resistances < p
(B) mediumvalued resistances ‘_j.
(C) highvalued resistances, particularly insul ation resistance
(D) all of theabove <«
I 2%
55. Themovingironvoltmetersindi cgtei \
(A) thesameval ucatq d.c.andac. voltages
(B)lower vauesfor & voltagesthan for corresponding d.c. voltages
(C) higher valuesfor tagesthan for corresponding d.c. voltages
(Dﬁone of the aboveaj
56. EIectrénig,Voltmeters hich userectifiersempl oy negativefeedback, thisisdone:
(A) toincreasetheovefdl gain (B) toimprovestability
(C) toavercomenon-linearity of diodes (D) noneof theabove
"r
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S7.

58.

59.

60.

61.

62.

63.

A truermsreading Voltmeter usestwo thermocouplesin order :

(A) toincressesengtivity

(B) that the second thermocouple cancel s out the non-linear effectsof thefirst thermocouple
(C) topreventdriftinthed.c. amplifier

(D) all of theabove

In an electronic ohm meter, an OP-Ampisused as:
(A) Summer (B) Multiplier
(C) Bufferamplifier (D) Integrator ":
A vertical amplifier foraCRO canbedesignedfor : \J /1 'I
(A) Onlyahighgain (B) Onlyabroadbandwidth (¢ F
(C) A constant gain timesbandwidth product (D) All of theabove . - r |
18
< 'K ¢

In CRT thefocusing anodeislocated : A { ¥t
(A) between pre-acce erating and accel erating anodes 1 K ) {
(B) after accelerating anode e

(C) beforepre-accelerating anode

(D) noneof theabove

Inacommunicationssystem, noiseismost likely to affect thedg l ; /
(A) atthetransmitter 4 (B) inthe

(C) intheinformationsource ‘L (D) atthedestination
Which of thefollowing statementsstnlai

(A) Randomnoisepowerisi nversel' proportional to bandwidth

(B) Hickerissometimes cd.Led'ngnoduI ationnoise

(C) Noiseinmixersiscausadl by ihadequateimage frequency rejection
(D) A randomvol ta(ﬁacrossard Stance cannot be calculated

Inalow-level AM wa‘m amplifiersfollowing themodul ated stage must be:
(A;(hnear devices 4 (B) harmonicdevices
(C)\ dassCamplifiers ’ (D) non-linear devices

64. A camer PS multaneo?(y modulated by two sinewaveswith modulationindicesof 0.3and 0.4;
thetotal modulationind
(A) is
(B) canngt becalculated unlessthe phaserelationsare known
(C) is0.5~
(D) is0.7
ElJ-49857-A 10
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65.

66.

67.

68.

69.

70.

To providetwo or morevoicecircuitswiththesamecarrier, itisnecessary touse:
(A) 1SB (B) Carrierreinsartion
(C) SSBwithpilotcarrier (D) Lincompex

Oneof thefollowing cannot be used to remove the unwanted sideband in SSB, thisisthe:

(A) Filtersystem (B) Phase-shift method
(C) Thirdmethod (D) Bdanced modulator
¥

P
Indicatewhich oneof thefollowing isnot an advantage of FM over AM : {‘ 1
(A) Better noiseimmunity isobtained (B) Lower bandwidthisrequired1|I , = / 2 |
(C) Thetransmitted power ismore useful (D) Le&modulatingpowerisrecrired -, r
Toprevent overloading of thelast IF amplifierinareceiver, oneshoulduse: 4 | vy ¥
(A) Squelch (B) Varigblesensitivity « 1 . F
(C) Vaisblesdectivity (D) Doufil@dsnversiog (

To coupleacoaxial linetoaparale-wireline, itisbest jo use

r
(A) Sottedline @) Bauwn|
(C) Directiond coupler (D) Quartegr-wevetransformer
Highfrequency wavesare: 4 v /
(A) absorbed by theF, layer ‘L '
(B) reflected by theD-layer “\{ p

(C) capableof useforlong distance _c_g!_ﬂnuni cationsonthemoon

(D) affected by thesolar cycle1l .
' &

<
71. After atarget hasbeen acqui réd,!tﬁfrbei scanning systemfor trackingis:

(A) Nodding ‘ \ (B) Spird

(C) Conicd d é (D) Hdicd
72. iconductorshaveel’ riéa conductivity of theorder of :

(A)" 10 Sm (B) 10°SYm

(C) 10Sm (D) 10°S/m

r

73. Inanacamplifier, smaler theinterna resistanceof theac signal source:

(A) Larger thecurrentgain (B) Smdlerthecircuit voltagegan

© Largertr'lecircuitvoltagegain (D) (A)and(B) both
ElJ-49857-A 11 [Turn over
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74.

75.

76.

77.

78.

79.

80.

81.

Inanamplifier, thecoupling capacitorsare employedfor :

(A) limitingthebandwidth

(B) matchingtheimpedances

(C) contrallingtheoutput

(D) preventing of dc mixingwithinput or output

A diacisequivalentto:

(A) Pairof Diodes (B) Triacwithtwogates
(C) Pair of four-layer SCRs (D) Diodewithtwotranastors '\
1

Silicon stee! isused for transformer core because: / '
(A) itreduceshysteresisloss (B) itreduceseddy currentloss r r
(C) itincreasescorepermesbility (D) dl of theabove |

i J L
Thecoreinalargepower transformer isbuilt of : -, ] . , F
(A) Castiron (B) Mild‘s:eel\ {
(C) Ferrite (D) Siliconsted
A 400/200V transformer hasapuimpedance of 0.05. The HVis de Voltage requiired to circul ate
full load current during short circuit test is:
(A) 40V (B) 20V
(©) 10V (D) 5V Y.

‘

Phase rel ationship between mmf phasor < emf phasor in!wnchronousma:hineis:
(A) leads by90° v { f
(B) lags byQ9o0° -
(C) and aein phase ¥

(D) Thisangledepends upo? thepf@f theload

Why isit necessary to ;#ow de compensatl ngwindingin aDC motor ?

commutation
drop

(A) Tohelpachna/e’ggm
(B) Tepreventalarge
(C)f To prevent comm
(D) " Toreducethemainfield ampere-turns

A synchrenous motor

400V. Tlheinducedemtiis:
(A) '

(C) 400 ?\@x 50

E1J-49857-A

orflash over upon sudden changeinload

ith 5 Q synchronous reactance draws a leading current of 10 A at

(B) 400 - j+/3x50
(D) 400 + +/3x50
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82.

83.

85.

86.

87.

Which of thefollowing statementsiscorrect ?

(A) X and X, aredifferentinaround rotor machineat |agging pf only
(B) X,and Xq aredifferentin around rotor machine at any pf

(C) X, and X4 aredifferentinasaient polemachineat lagging pf only
(D) X, and X, aredifferentinasaient polemachineat any pf

If stator impedanceis neglected, the maximum torquein an induction motor occursat arotor
resistanceof : v
(A) A+9x, (B) (1-9x, - (*:
©) s, D) x, E: |
V. /1. f

Atlow dipthetorquedip characterigticis: f 7 r

1 - |
(A) Tag ®) Tas L.
© TO‘% (D) Toc;,-rk‘ { ‘

3 J. Wy
A full-pitched coil in a6-pole machine hasamechani
(A) 30° (B) 60°
(C) 90° (D) 180°
A 230V dc seriesmotor isconnected to 230*2, itwill : £
(A) rundowly (B) notrunatall
(C) runwithlessefficiency “\ { (D) noneafthese
A

Ina25-KVA 3300/230V, single pha's'e:[ransformer theiron and full load copper lossesare

350 W and 400 W respectively. Theload a whichtheefficiency will bemaximumis:
(A) 25 KW ( I+ (B) 21.875 KW
(C) 25KVA ‘ d (D) 21.875KVA

5

A 3-0, 6 polei nducf(o"motor operateson 440V, 50CIssupply. If the actual speed of the motor

88.
isS))?OrE)m,theslipwill
(A) 6% (B) 5%
(C) 4% (D) 0.4%
89. When aginduction mo};r runsat rated load and speed, theiron lossesare:
(A) igible . (B) veryheavy
(C) independent of supply frequency (D) independent of supply voltage
"r
ElJ-49857-A 13 [Turn over

www.examrace.com



90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

Which of thefollowing transformersissmallest ?

(A) 1KVA,50Hz
(C) 1KVA, 400Hz

(B) 1KVA, 200Hz
(D) 1KVA, 600Hz

Two mechanically coupled alternators deliver power at 50 Hz and 60 Hz respectively. The

highest speed of thealternator is:
(A) 3600rpm
(C) 600rpm

Synchronous speed isdefined asthe speed at which the:

(A) stator magneticfieldrotates
(C) rotor rotateson full load

Thelossesthat occur in aninduction motor are;

(A) stator copper loss
(C) windageandfrictionlosses

Lightning arrester should belocated :
(A) away fromthecircuit breaker
(C) away fromthetransformer

(B) 3000rpm
(D) 500rpm

Y
d o Y
¢

(B) rotorrotatesonnoload A & / y)

(D) noneof theabove r { ,

(B) stator ironloss
(D) d gho

(B) nearthecirguit breaker
(D) near thetransformer

£

4 ( (B) strandeﬂv'ire

(D) transposedwire

For aload flow solution the quantitieShormal ly specified at avoltage controlled busare:

Coronalossismaximumin:

(A) ACSR

(C) unstrandedwire 4
(A) PandQ < t,_t

(©) Qand|V| -\

Mhorelay isnormall L‘sed for protection of :
(A) LLongtraflsmis'gﬂina

(©) (smmengthnnes 1\\

Thevol tag%at thetwo
thellnels

(A) 4356 MW

(C) 2515 MW

(B) Pand|V|
(D) Pandd

(B) Mediumlengthlines
(D) Noneof these

dsof alineare 132 KV and itsreactanceis40 ohms. The capacity of

(B) 217.5MW
(D) 500 MW

For stahility and economic reasonsweoperaethetransmisson linewith power angleintherange:

(A) 10°to 25°
(C) 60°to 75°

ElJ-49857-A

(B) 30°to45°
(D) 65°to80°
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50013 KVA

100. Ferranti effect onlong overhead linesisexperienced whenitis:
(A) Onfull load at unity pf (B) Lightlyloaded
(C) Onfull loadat 0.8 pf lag (D) Indlthesecases

101. Load flow study iscarried out for :

(A) FaultCdculaions (B) Stability Studies
(C) SysgemPanning (D) LoadFrequency Control
¥
102. A transformer rated for 500 KVA, 11 KV/0.4 KV has animpedance of 10% and isconnecté b
toaninfinitebus. Thefaultlevel of thetransformeris: Es . |
(A) 500 KVA (B) 5000 KVA A/ / "/
(©) (D) Noneof these f 'F
103.InapureLC pardld circuit under resonance condition, current draanrornthés.lpply mains rr1_5|s
(A) Verylarge (B) v4JLC '-
(©) v/iLc (D) Zerp % :
104. Theinsulation of modern EHV linesisdesigned based
(A) Thelightingvoltage (B Cor
(C) Radiolnterference SwitchingVoltage
105. Severeover-voltagesare produced during arci g faultsin apow withtheneutral :
(A) isolaed (B) solldly hed

(C) earthedthroughalowresistance % { (D) noneofthese

106. The zero sequenceimpedance of diff&fent el ements of power systemisgeneraly :

(A) equd <1 (B) zero
(C) different ( 1 #% (D) noneof these
107. ReSStéﬁceSNItCl’llngIS sedin:
(A)..Bulkoil cnrcuu'lr)riakers (B) Minimumoil circuit breskers
© (Al'r blast circuit br; S (D) Alltypesof breakers
108. Surge protector provid
(A) hl‘ghirhpedanceto normal voltage (B) lowimpedancetosurge
(C) both(A) and (B)) (D) noneof these
109. Thermal ‘protection switchisableto protect against :
(A) overlead (B) overvoltage
© temperaﬁjre (D) shortcircuit
ElJ-49857-A %»5 [Turn over
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110. Whichtypeof plant hasthe minimum running cost per KWh of energy generated ?
(A) Hydro-ElectricPlant (B) Thermal Power Plant
(C) Nuclear Power Plant (D) Diesd Power Plant

111. Inresonant pulseinverters:
(A) dcoutput voltagevariationiswide
(B) thefrequencyislow
(C) theoutput voltageisnever snusoidal ¥
(D) dcsaturation of transformer careisminimised " (

b
1
- |
112. Theeffect of d.c. saturationin arectifier transformer is: \ / v/
(A) todecreasetheoutput f F
(B) toincreasetheoutput - '
(C) todecreasethea.c. componentsof the output <
D) noneof theabove :
©) L L
r

113. Ina3-¢ half-waverectifier, each diode conductsfor adurétion of
(A) 180° (B)f30°
(C) 60° (D) 45°

114. A converter which can operatein both 3-pulse and 6-pulse modésisa;
(A) 1-¢full converter 4 (B) 3-¢haf convertor
(C) 3-¢ semi converter ( (D) 3-¢full converter

115. A 1-¢ full bridgeinverter can operateih_]bad-commutati onmodein caseload consistsof :
(A) RLCoverdamped - (B) RLCunderdamped
(C) RLCoriticaly damped. ™ & (D) Noneof these
I 2%
116. Incirculating-current type of dual ddnverter thenature of voltage acrossreactor is:
(A) dternating Jt{ (B) pulsating
(C)direct F (D) triangular

117. In£ -¢ full converter, t ﬁputvoltagepulsatesat afrequency equal to:
(A) Supplerequency, B) &
© 3 (D) &

118. Inasinglepulse mod ionof PWM inverters, the pulsewidthis120°. For aninput voltage of
220V dc,thermsvaueof output voltageis:

(A) 179:63 (B) 254.04V
(C) 127.02 V (D) Noneof these
ElJ-49857-A 16
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119. Inadual converter, converters 1 and 2 work asunder :
(A) lasrectifier,2asinverter (B) bothasrectifiers
(C) bothasinverter (D) noneof these

120. Inaconstant sourceinverter, if frequency of output voltageisf Hz. Then frequency of voltage
input to constant sourceinverteris:

(A) f (B) 2
€ & (D) 4 ‘1(
¢
AT
(NI
o - f;‘
i €
N N\
£
4
‘ r
!
<
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